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1. 10+ 5=
(i) 115 (ii) 5 (iii) -9985 (iv) 15 (v) 25

2. Write the expanded form of the given number : 574585
(i) (5% 100000) + (7 x 10000) + (3 x 1000) + (5 x 100) + (8 X 10) + (5 x 1)

(i) (5 X 100000) + (7 x 10000) + (4 x 1000) + (6 X 100) + (8 X 10) + (5 x 1)
(iii) (5 x 100000) + (7 X 10000) + (4 x 1000) + (5 x 100) + (8 X 10) + (5 x 1)
(iv) (5 x 100000) + (7 x 10000) + (5 x 1000) + (5 x 100) + (8 x 10) + (5 x 1)

(v) (5% 100000) + (7 x 10000) + (4 x 1000) + (5 x 100) + (7 x 10) + (5 x 1)

Write the number for the given expanded form :
"(4 X 100000) + (7 x 10000) + (1 x 1000) + (6 X 100) + (2 X 10) + (2 x 1)"

(i) 4,71,622 (ii) 4,71,522 (iii) 4,71,612 (iv) 4,71,722 (v) 4,72,622

4. 3000 + 600 + 70 + 8=
(i) 4,678 (ii) 3,668 (iii)) 3,688 (iv) 3,578 (v) 3,678

5. 9000 + 700 + 70 + 7=
(i) 8,777 (ii) -223 (iii) 9,777 (iv) 10,777 (v) 9,787

Write the number for the given expanded form :
"(5 x 100000) + (1 x 10000) + (4 x 100) + (7 X 10) + (5 x 1)"

(i) 510465 (ii) 510575 (iii) 510485 (iv) 510475 (v) 500475

7. Which of the following numbers is divisible by 37
(i) 7,811 (ii) 7,810 (iii) 7,808 (iv) 7,807 (v) 7,809

8. Which of the following numbers is divisible by 57
(i) 2,967 (ii) 2,963 (iii)) 2,964 (iv) 2,966 (v) 2,965

9. 2000 + 900 + 10 + 4=
(i) 2814 (ii) 2914 (iii) 2924 (iv) 12914 (v) -7086

10. Which of the following numbers is divisible by 107?
(i) 4528 (ii) 4530 (iii) 4529 (iv) 4532 (v) 4531

11. Which of the following numbers is divisible by 107?
(i) 1,512 (i) 1,509 (iii) 1,508 (iv) 1,510 (v) 1,511

12. Which of the following numbers is divisible by 37
(i) 7,615 (ii) 7,616 (iii) 7,618 (iv) 7,619 (v) 7,617
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Which of the following numbers is divisible by 107
(i) 7,012 (ii) 7,009 (iii) 7,008 (iv) 7,010 (v) 7,011

80000 + 6000 + 400 + 70 + 7=
(i) 86467 (ii) 76477 (iii) 86477 (iv) 96477 (v) 86577

19,484 =
(i) 9000+400+80+4 (i) 10000+9000+80+4 (i) 10000+9000+400+4 (iv) 10000+9000+400+80+4

(v) 10000+400+80+4

Write the expanded form of the given number : 244,781
(i) (2 X 100000) + (3 X 10000) + (4 X 1000) + (7 X 100) + (8 x 10) + (1 x 1)

(ii) (2 x 100000) + (4 x 10000) + (5 x 1000) + (7 x 100) + (8 x 10) + (1 x 1)
(iii) (2 x 100000) + (4 x 10000) + (4 x 1000) + (7 X 100) + (8 X 10) + (1 x 1)
(iv) (2 x 100000) + (4 x 10000) + (4 x 1000) + (7 x 100) + (9 x 10) + (1 x 1)

(v) (2 X 100000) + (4 x 10000) + (4 x 1000) + (7 x 100) + (7 x 10) + (1 x 1)

3,244 =
() 3000+40+4 (ii) 3000+200+40+4 (iii) 3000+200+4 (iv) 200+40+4 (v) 3000+200+40

855=
(i) 50+5 (ii) 800+5 (iii)) 800+50 (iv) 800+50+5

Write the number for the given expanded form :
"(9 x 100000) + (2 x 10000) + (5 x 1000) + (4 x 100) + (7 X 10) + (6 x 1)"

(i) 935,476 (ii) 925,376 (iii)) 926,476 (iv) 925,476 (v) 915,476

Which of the following numbers is divisible by 5?

(i) 7,935 (ii) 7,934 (iii) 7,936 (iv) 7,933 (v) 7,937

Which of the following numbers is divisible by 5?

(i) 6180 (ii) 6179 (iii) 6182 (iv) 6178 (v) 6181

94,635=
(i) 90000+4000+600+30+5 (ii) 90000+4000+600+5 (iii) 90000+4000+30+5 (iv) 90000+600+30+5

(v) 4000+600+30+5

5,985 =
(i) 5000+80+5 (ii) 900+80+5 (iii) 5000+900+5 (iv) 5000+900+80 (v) 5000+900+80+5

Which of the following numbers is divisible by 97

(i) 2,115 (ii) 2,116 (i) 2,117 (iv) 2,114 (v) 2,113

539=
(i) 500+9 (ii) 500+30+9 (iii) 30+9 (iv) 500+30



Assignment Key

1) (iv) 2) (iii) 3) (i) 4) (v) 5) (iii) 6) (iv)
7) (v) 8) (v) 9) (ii) 10) (ii) 11) (iv) 12) (v)
13) (iv) 14) (iii) 15) (iv) 16) (iii) 17) (ii) 18) (iv)
19) (iv) 20) (i) 21) (i) 22) (i) 23) (v) 24) (i)
25) (i)
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